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X

1. muual f(z,y) = aglduniisnumeyiusees f.(z,y) waz f,(z,7)

. fladhy) = fzy)
folw,y) = lim Y
z+h  z

BERT z+h+y z+y
= h

. (x+h)(z+y)—x(x+h+y)
= lim

h—0 h(x+h+y)(z+y)

22 + 2y + hx + hy — (2% + ha + xy)

p— 1'
o h(z+h+y)(x+y)
. hy

= 111m
=0 h(x+h+y)(z+vy)

= lim Y _ Y 4
h—0 (z + h+y)(x +y) (z +y)?
fy(z,y) = lim flay +h) = fla,y)

h—0 h
X

. z+y+h T+y
iy
:hmm(x—l—y)—x(x—l—y—l—h)

h—0  h(z+y+h)(z+y)
22+ zy — (2° + 2y + hx)

p— 1‘
= hz+y+h)(x+y)
= lim —hz
~ hs0h(z 4y 4+ h) (x4 y)
—x x

_flzi—% (x+y+h)(z+y) :—(a:+y)2 #




Y

2. nvuald f(z,y) = - agldunilensvneyiuste f,(x, y) waz f,(z,y)
rTy

2891

ylx+y) —ylx+h+y)
11m
=0 h(x+h+y)(z+vy)
yr +y* — (yr + hy +y°)
h—0  h(z+h+y)(r+y)
. —hy
11m
=0 h(x+h+y)(z+vy)

= lim Y SR #
h=0 (x +h+y)(z +y) (z +y)?

flz,y+h)— f(z,y)

T = lim
fy( 9 y) h—0 h
y+h _ _y
= lim ST
h—0 h

_ (y+h)(x+y) —ylz+y+h)

= 111m

h—0 h(z+y+h)(x+y)

yx +y? + hx + hy — (yx + 3> + yh)

= lim

h—0 h(x+y+ h)(z+vy)
= lim h
0 h(z+y+h)(x+y)
x T

hig(l) (x+y+h)(z+y) - (x 4+ y)? 7



3. nwuald f(x,y) =

agldunilensvneyiustes f,(x, y) waz f,(z,y)

2891

f(l‘—l—h,y)—f(l’,y)

fo(x,y) = lim

h—0 h
x+h _ _x
— hm z+h—y r—y
h—0 h

et —y) -t h—y)
50 h(x +h—y)(x —vy)
1? — zy + hx — hy — (2* + hx — xy)

= lim

h—0 h(x+h—y)(x—1y)
L —hy
- IE>][(1)h(:lc—irh—y)(:zz:—y)
—Y Y

S et ye—y @y T

f(]},y—Fh)—f(ZE,y)

fy(xa y) = lim

h—0 h
T z—(y—h) o ﬁ
= Jm h
_ i 22— y) el —y—h)

h—0 h(x —y—h)(z—y)

2 _ _ (2 _ _
i E Y (z* — zy — hx)

h—0  h(z —y—h)(z—y)
= lim h
 hS0h(x 4y — h)(x —y)
x x

SNy ey @9




4 agldunilensvneyiustes f,(x, y) waz f,(z,y)

4. nuuald f(z,y) =
X

2891

h—0 h
vy y
o hm z+h—y T—y
h—0 h

y(r —y) —ylx+h—y)
=0 h(x+h—y)(r—vy)
yr —y° — (yr + hy — y°)

pr— 1.
o0 b+ h—y)(x —y)
-1 _hy
TS0 Azt h—y)(x —y)
= lim Y -7 +#

h=0 (z+h —y)(z —y) (. —y)?
f(x,y+h)— f(z,y)

fy(Ly):}lllg(l) h
y(Jrh) Y
BERT —(y—h T—y
= Jim h
i (y+h)(x—y) —ylx—y—nh)
= 111m
h—0 h(x —y—h)(x —y)
_ i yr —y° + hx — hy — (yx — y*> — hy)
= 111m
h—0 h(x —y —h)(x —y)
o hx
TR0 h(z+y — h)(z —y)
= lim * - #

h—0 (x —y —h)(x —y) (x —y)?



5. Anuali f(x,y) = aqlduntisnumeyiustias £, (v, y) wae f,(z,y)

1
VIty

289

» —1
folz,y) = lim -
1 _ 1
= ljm Yty Ve

Ilim\/x+y_\/‘r+h+y

N S
g YErYy-—Vethty Vatytvethty

—0hyr+h+y- ety Jrty+vVr+h+y
= lim (\/x—+y)2_ \/W)Q

=0 hyx+h+y-Vr+yr+y+Vr+h+y)
im (+y)—(@+h+y)
S0hyVT +h+y Ve tyVr+y+ Vo +h+y)
= lim —h

=0 hy/x+h+y-Vr+yr+y+Vr+h+y)
= lim -1

=0 +h+y-VJr+y/r+y+vr+h+y)

1
2oz +y)Vrty

fylw,y) = lim flo,y+ h;)l ~ f(a,y)

—_ Py

1 1
— Qi YEtvrh Vet
h—0 h

g VERY VT ty+h
=0 hy/ox +y+h-x+y
i VERY - Vetyth yrtytvetyth
h=0hyr+y+h-Ve+y Ve+y+Vr+y+h
= lim Vrty? —KWr+y+h)?
=0y +heEy(Ve Y+ Vet y +h)
~ lim (x+y)—(@+y+h
O hVetytheVety(Vety+ Ve ty i)
= lim —h
OhVE Y AR VI Y(VEE Y VYR
= lim —1
h—>0\/x+y+h-\/x+y(\/x+y+\/x+y+h)

—_ Py




Ciwuald f(z,y) = (1+2)Y(1+9)* 81 £.(0,a) = In(1 + a) + 1 aam f,(a, a)

28911 NATEUN

arlman

In(l+a)+1=
a

fyla,a)

Cnvuald f(z,y) = (L+z

(1+

28911 Wan70N

fy(:v,y)

fy(z,y)
= fy(1,1)

)

)
y)*

1+2) - 1+y)"+(1
T4+ 2)" "t (T+y)" +(
14+0)" (14a)+(
+1In(1+a)

—~ o~

— S (L g () (14 )

= (1+2)In(l+2)- (1+y)"+ (1 +2) - o(1 +9)""
=(1+ 1) m1+ 1) (L+ 1) + 1+ 1) 11+ 1)
=4In2+4+2 #

A fi(a,0) wae fy(a,0) Sea>0

I+y)" Z0+z)—(1+2)- 5 (1+y)

fol@y) = (1+y)2
R +y)™
_ (14001 +a) "t = (1+a)°- (1+0)*In(1+0) _
fola,0) = (14 0)2 =0 #
(183 b/
b (o) = (149" 21 +2) - (1+2) Z(1+y)°
Yy YY) = (1 +y)2x
() (L) In(l+ ) — (1+2) - 2(1+y)*

falz,y) = T
fu(a,0) = (1+0)*- (1+a)n{d +a) = (1+0)*-001 +a)" _ In(1+ a)

(1+0)%

##



8. muuali f(z,y) =7 -y +y- 29 A fola,1) + f,(1,a) e a >0

28911 NATEUN

A

£

0 0 0
— . g ., .Y
ﬁ@w%—xaﬁ/+y 5et Y 5

folz,y) =2y Iny +y* - 14y -ya¥™!
fela, 1) =a-1In1+1*-1+1-1a'!
=04+1+1=2
0
(M%w=x~—y+y~zﬂ+ﬂ“—
felr,y) =z -2y ' +y-a¥Ino+a¥-1
fo(lba)=1-a"'4a-1"In1+1%-1
=140+1=2

fola, 1)+ fo(l,a) =2+2=4 #
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9. nmua f(z,y) = zysin(z cos(ry)) A —— UL ——

ox dy
8%
g—i = %xy -sin(x cos(zy)) + zy - g sin(z cos(zy))

=y - sin(x cos(zy)) + xy cos(x cos(zy)) - py cos(zy)

= ysin(x cos(zy)) + zy cos(x cos(zy)) {%x -cos(zy) + T - % cos(xy)]

= ysin(z cos(zy)) + xy cos(x cos(zy)) [1 -cos(zy) +x - (— sin(asy))(%(aty)]

= ysin(x cos(zy)) + xy cos(x cos(zy)) [cos(zy) — z sin(xy) - y]

= ysin(x cos(zy)) + zxy cos(x cos(zy)) [cos(zy) — zy sin(zy)]
LAY

g—g = (%:cy -sin(z cos(zy)) + zy - (% sin(z cos(zy))
= x - sin(x cos(zy)) + xy cos(x cos(zy)) - (%33 cos(zy)

= zsin(x cos(xy)) + xy cos(z cos(zy)) |z (— sin(xy))agymy

= zsin(x cos(xy)) + xy cos(z cos(zy)) [~z sin(zy) - x]

= xsin(z cos(zy)) — 2y cos(x cos(zy)) - sin(xy)



af  of

10. Avuald (7, y) = tan?(tan z - tan(ay)) AU == uay ——

ox dy
8%
aof 0
i 2tan(tanx - tan(xy)) - pp tan(tan z - tan(zy))
= 2tan(tanz - tan(zy)) - sec(tan z - tan(zy)) - g(tanx - tan(zy))
x
= 2tan(tanz - tan(zy)) - sec?(tan z - tan(zy)) {tanx : 82 tan(zy) + tan(zy) - 82 tan x}
x x
= 2tan(tanz - tan(zy)) - sec’(tan z - tan(zy)) {tanx -sec?(zy) - (%(xy) + tan(zy) - sec? x}
= 2tan(tan z - tan(zy)) - sec®(tan x - tan(zy)) [tanz - sec®(zy) - y + tan(zy) sec® z]
LAY
of 0
- 2tan(tanx - tan(xy)) - By tan(tan z - tan(zy))
= 2tan(tanz - tan(zy)) - sec’(tan z - tan(zy)) - aﬁ(tanx - tan(xy))
Y
= 2tan(tanz - tan(zy)) - sec*(tan z - tan(zy)) - tan x - £ tan(zy)
Y
= 2tan(tan x - tan(zy)) - sec?(tan z - tan(xy)) tan z - sec?(zy) - a—y(xy)
= 2tan(tan z - tan(zy)) - sec?(tan x - tan(zy)) tan x - sec?(zy) - x
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1. auneyiustas s uAUge1eeianduy  f(x,y) = sin(cos(zy))

2. aaneyiubtadufLdeaeaieidu  f(x,y) = cos(sin(zy))

y o 02
3. Wz = f(z,y) ned 2 = st war y = s + t AU a—tj
o P (922
4. Wz = f(z,y) IneN o = st upz y = s+t a9 EF]
S
o P 822
5. Wz = f(z,y) neh 2 = st war y = s — ¢t a9 3
' 0%z

6. W 2= f(x,y) lnefz = st LL@:ﬁy:t—smmm
s
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1. auneyiustas s uAUge1eeianduy  f(x,y) = sin(cos(zy))
389 azleddn
0 , %)
fa(w,y) = cos(cos(zy)) - 7 cos(wy) = cos(cos(zy)) - (= sin(zy)) - 5-(xy)

= —ycos(cos(xy)) - sin(zy)
) 0

faz(zy) = —y cos(cos(ay)) - 7 sin(zy) — 5 (y cos(cos(zy))) - sin(zy)
= —ycos(cos(zy)) - cos(zy) -y + (y sm(cos(:vy)))% cos(zy) - sin(xy)
= —y? cos(cos(zy)) cos(wy) + (ysin(cos(zy)))(—sin(zy) - y) - sin(ay)

) -
y)
= —y” cos(cos(zy)) cos(ay) — y* sin(cos(ay)) sin*(zy)
(

fay(zy) = —(%y cos(cos(zy)) - sin(zy) —y - (% cos(cos(zy)) - sin(zy) — y cos(cos(xy)) - &% sin(xy)

= —1-cos(zy) - sin(xy) — y - (— sin(cos(zy))) - % cos(zy) - sin(xy) — y cos(cos(zy)) - cos(xy) -
= cos(zy) sin(zy) + ysin(cos(zy)) - (—sin(zy)) - x - sin(xy) — yx cos(cos(zy)) cos(zy)
= cos(zy) sin(zy) — 2y sin(cos(xy)) sin?(zy) — yx cos(cos(xy)) cos(xy)

LAY

fofa.9) = cos{eos(ay) - 5 cos(ay) = cos(eos(ay) - (~sin(ay) - 5 (+0)
Y

n(zy) — (%(x cos(cos(zy))) - sin(zy)

= —x cos(cos(zy)) sin(x
fyy(xy) = —x cos(cos(zy)) - g .
— —arcos(cos(ay)  cos(ay) -+ (asin(cos(zy))) - cos(ay) - sin(zy)

= —x° cos(cos(zy)) cos(zy) + (xsin(cos(zy)))(— sin(xy) - z) - sin(xy)



2. asmayudtesdusuaesreaieidi  f(z,y) = cos(sin(zy))

aa o 7
3891 azlaan

fulir.y) = — sin(sin(ay) - 5 sin(ry) = — sin(sin(ay) - (cos(ay) - £-(r0)

= —ysin(sin(zy)) cos(xy)
o 0

faz(2y) = —ysin(sin(zy)) - 7 cos(wy) — 5 (ysin(sin(zy))) - cos(zy)
= —ysin(sin(zy)) - (—sin(zy)) -y — (y COS(Sin(xy)))a% sin(zy) - cos(zy)

= y*sin(sin(zy)) sin(zy) — (y cos(sin(zy))) cos(ay) - y - cos(xy)
= y?sin(sin(zy)) sin(zy) — y* cos(sin(zy)) cos®(xy)
%) a .. o 9
Jay(zy) = —8—yy - sin(sin(zy)) - cos(zy) — y - y sin(sin(xy)) - cos(zy) — ysin(sin(xy)) - 3y cos(zy)

= —1 -sin(sin(zy)) - cos(xy) — y - cos(sin(xy))% sin(xy) - cos(xy) — ysin(sin(zy)) - (— sin(zy))x
= —sin(sin(zy)) cos(zy) — y - cos(sin(zy)) cos(zy)x - cos(zy) + xy sin(sin(xy)) sin(xy)
= —sin(sin(zy)) cos(zy) — zy cos(sin(zy)) cos?(zy) + zy sin(sin(zy)) sin(zy)

LS

£,(2,y) = sin(sin(zy)) a% sin(zy) = sin(sin(zy)) - (cos(ay)) - a%ccy)

= zsin(sin(zy)) cos(zy)

funloy) = asin(sin(ey) - 5. cos(a) + 5 (asinfsinay)) - cos(ay)

= xsin(sin(zy)) - (—sin(xy)z) + x cos(sin(xy))(% sin(zy) - cos(xy)
)si

= —a*sin(sin(zy)) sin(zy) + cos(sm(xy)) cos(zy)x - cos(zy)
= —a?sin(sin(zy)) sin(zy) + 2% cos(sin(zy)) cos®(xy)
fye(@y) = fay(z,y)

= — sin(sin(zy)) cos(xy) — xy cos(sin(xy)) cos?(zy) + xysin(sin(zy)) sin(zy)
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3. Wz = fx,y) ez = st Uaz y = s+ -7
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() == (o) 3 (5)
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af af

Er oy

/\
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0%z 8[82f or  O0*f 8y]+[82f 8x+82f'8y}

o ot ot ot
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_[erf O’ f *f O’ f

-7 L?xz 'S+0y8w'1] i {8905?; .S+8_y2'1]

20 f *f o*f  Of

=7 + Sayax + S@x@y * 0y? #
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4. Wz = f(x,y) e o = st upz y = s + t A9 52
S

8917 NANTUNLEBNN

9: Of dx _Of oy

Y ds Oz Os Oy Os
2 NN

S t S t
azlgian
0z Of of ., of Of
ds  Ox t+8y L=t 8x+8y

0 (0:\_, 0 (o5, 0 (0f
ds \ds)  0s \ Oz ds \ Oy
NANTOULHUNIN

af af

Er oy

/\
A NAN

L
=

022 0s Oyox " Os 0xdy " 0s Ay Os
2 2 2 2
:t[af~t+af-1]+[af t—i—a—f-l}

&:t[yf 8x+62f 8y]+[82f 8x+82f.8y}

0x? Jyox 0xdy . 0y?
0 f 0 f 0*f  O*f

42

=1 0x? +t8y8x +t8:r8y + oy? #
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5. W 2= f(x,y) ez = st LLm’y:s—t@amw
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0z _0f dr  0f Oy
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NANTOULHUNIN

af af

Er oy
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A NAN

L
=

02228[82]“ ox  O*f 8@/}_[02]” ox 02f.8y

o~ |02 ot T ogox ot|  |owoy ot @a]
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o2z ° + Oyox ' 0xdy Oy? '
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6. Wz = f(z,y) ez = st war y =t — s a9 E
S
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/\ 0z _0f oz _Of oy
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